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PSYCHOLOGY
PAPER - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1. We sometimes attempt to solve 5.  Match List-I with List-II and
problems by applying the techniques indicate your answer using the codes
that worked in similar situations in given below :
the past. What type of method are we List — I List — IT
using ? . (Function) (Area of the Brain)
(A)  Trial and error p. Visuo-spatial 1. Hypothalamus
(B) Analogy function
(C) Algorithms g- Social norms 2. Cerebellum
(D) Heuristics r. Releasing 3. Orbito-frontal

factors cortex

2. The fact that a nearer object may s. Balance 4. Parietal cortex
obscure a more distant object from Codes :
the view is due to : P q r S
(A) Figure and ground (A) 2 1 4 3

L (B) 1 2 3 4
(B) Proximity (©) 4 3 > )
(C) Interposition (D) 4 3 1 2

(D) Closure
6. Read each of the following two

3. Match List-I with List-II and statements — Assertion (A) and
indicate your answer with the help of Reason (R) and indicate your answer
codes given below : using the codes below :

List-I List — IT Assertion (A) : In Edwards
Phenomenon Psvchologist Personal Preference Schedule
p (Learne d ) 1( yBan dugra ) (EPPS), forced choice format
: : is used.
}Clelp le‘::‘sness > Seli Reason (R) : Forced choice
9 O(l;gm 1\/;: malp s V\?llgman format reduces acquiescence
r. servationa ) olpe response set.
learning Codes : P
s. Systematic 4. Tolman (A) Both (A) and (R) are true and
desensitization (R) is the correct explanation
Codes : of (A).
p q r S (B) Both (A) and (R) are true but (R)
(A) ) 4 1 3 54 ;10t the correct explanation of
% Sy 2 (C) (A) s true but (R) is false.
D) 4 5 3 ) (D) (A)is false but (R) is true.
. ' 7. Why do individuals with high need

4. In a3 x 4 contingency table, using for achievement quit early when
chi-square test, the degrees of faced by very difficult task ?
freedom associated with the chi- (A) Get tired easily
square will be : (B) Have poor perseverance
A 12 (B) 9 (C) Have high anxiety
© 7 (D) 6 (D) Have high need for efficiency
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10.

11.

12.

Assertion (A) : According to R. B.

Cattell, source traits are
important in the understanding
of personality.

Reason (R) : Oblique rotation is used
for uncovering source traits.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(C©) (A)istrue but (R) is false.

(D) (A)is false but (R) is true

Which of the following represents

the Tetrad equation as given by

Spearman ?

(A) Ty XT3y =Ty XT3

(B) 13 X1y =11y XT3

(©) 1y XTy3=13X1y

(D) All of these

What among the following define a

problem space ?

1.  Aninitial state

2. A goal state

3. A set of operations

(A 1,3 B) 1,2

<©) 2,3 (D) 1,2,3

A generalized picture or model of an

object or event, learned in the past

and stored in memoryj, is :

(A) perceptual constancy

(B) memory trace

(C) prototype

(D) cognitive map

Assertion (A) : We are able to
recognize the similarity and
differences of two objects.

Reason (R) Dissociable
subsystems operate
simultaneously in each
cerebral hemisphere.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(©) (A)istrue but (R) is false

(D) Both (A) and (R) are false

Paper-11

13.

14.

15.

16.

17.

What is the correct sequence of
events given below ?

1.  Releasing of neurotransmitters
2. Post synaptic potential

3. Binding on receptor sites

4.  Synthesis of neurotransmitters
Codes :

(A) 1 2 3 4
B) 4 3 2 1
©) 4 1 3 2
D) 2 4 1 3

Assertion (A) : The amplitude of the
action potential in a neuron
does not go beyond + 40 mV.

Reason (R) : Neurons function on
“all or none” basis.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(©) (A)istrue but (R) is false

(D) (A)is false but (R) is true

A man reflects his anger from his
boss to his child, is an example of :
(A) Projection

(B) Reaction Formation

(C) Displacement

(D) Regression

Speed and power tests can be
distinguished on the basis of :

1. Time limit

2. Difficulty level

3. Verbal/Non-verbal content
Codes :

(A) land2
(B) land3
(C) 2and3
(D) 1,2and3

Natural concepts are based on :
(A) prototypes

(B) aset of rules/properties
(C) schemas

(D) propositions

J-04-12



10.

11.

12.

AMHAT (A) : WA, K &F AR
AT B TEE F fau
JIeHTOT Heworol & |

& (R) : ol G i foeer &
fou {9 =seeda 1 SuEm T
A |

B! . .

(A) (A) 3R (R) T e &, 3R (R),

(A) 1 &t T E |
(B) (A) ¥R (R) &1 W &, wife
(R), (A) Tl T&I ST &1 & |
(C) (A)TEl &, wfehT (R) Toid & |
(D) (A) 7TeTd &, it (R) T&l & |

TWIEE FRT 90 M0 AR Iqed
HHrevor fr=fetiad & 9 g @ e 2

(A) Ty XT3y =1y XT3
(B) 13Xy, =11, XT)3
(©) 1y XT3 =13X1y

(D) STgeR ot

frfefaa & @ woe-fae oo

FATE :

1. U ARVF fefa

2. UHAeF f=afd

3. U UEeH 4T

(A) 1,3 (B)

<O 2,3 (D)

ot a%q a1 T2 A UH o=

a1 giee, STE qger Sty T e

o AR ST Wiad-uedd H WEd 7,

frefafaa 5 @ =1 e ¢ 2

(A) v Toar

(B) wid-grew

(C) TRITE (THIR)

(D) TEHETHS

AMHAT(A) : B9 T GRge W
HHMAT 277 3R H T K U & |

a& (R) : fome 3T voment
Td% sl SRR § U 91y
F AT & |

D! . .

(A) (A) 3R (R) AT T €, 3 (R),

(A) BT == |
(B) (A) 3 (R) AT Wer &, wfepd
(R), (A) T TEl AT &1 & |
(C) (A) T &, Al (R) TAd & |
(D) (A) 3R (R) I TAT € |

1,2
1,2,3
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13.

14.

15.

16.

17.
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(A) (A) 3R (R) AT T €, 3 (R),
(A) Tl TE AT F |

(B) (A) 3R (R) Tl W €, 3 (R),
(A) I TE AT TR & |

(C) (A) e &, wifehT (R) TAT & |

(D) (A) TeAT &, wAfhT (R) TEl & |
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W e & | 98 el 3 9
Toh Rt SaTEX0T & 2

(A) W&o

(B) widfsean faum
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1. |59 9
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3. VM3 fava—awg
YA

(A) 132 (B) 133
(C) 233 (D) 1,233

TShicTeh Hhod-] Teiaa I STEmRd
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18. Match List-I with List-II and 22. What is true of drives ?

indicate your answer using the codes 1. Internal states
g1ve1£ ]iDSetlSvi/ : List — II 2. Arouseq by tension
(Presentation of (Type of 3. Underlying need
reinforcement) reinforcement) 4. Guided by external stimuli
p.- Anunpleasant 1. Positive (A) 1,2and4
stimulus is reinforcement B) 1,2and3
presented to ’
decrease (©) 2,3and4
behaviour D) 1,2,3and4
q- Anunpleasant 2. Negative
Sélrglgvlgz 15) reinforcement 23. Intellectual functioning is mainly in
increase the domain of which lobe of the
behaviour Cortex ?
r. A pleasant 3. Positive (A)  Occipital lobe
stimulus is punishment (B)  Frontal lobe
?rfgrsgggd to (C)  Parietal lobe
behaviour (D)  Temporal lobe
s. A pleasant 4. Negative
stimulus is punishment 24. A nerve cell that responds to a
removed to vertical line but not to horizontal line
decrease is an example of
behaviour

Codes : (A) linear perspective system

P q r S (B) feature detector
A 1 2 3 4 (C)  pattern analyser
(B) 2 3 4 1 . .
(C) 4 1 3 ) (D) selection and organization
(D) 3 2 1 4 process
19. Short term memory is capable of
holding approximately how many 25. The visual signals from each retina
gfsns o(fnlgnrelated information ? reach striate cortex via which of the
following ?

Egg tf\i)\\/z(e): i(()) fﬁﬁ; (A)  Lateral geniculate nucleus

(D) tento twelve (B)  Medical geniculate nucleus
20. Learning of fears is best explained (C)  Infero-temporal cortex

(K): Operant conditioning (D)  Posterior parietal cortex

(B)  Classical conditioning

(C)  Observational learning 26. Observational learning involves :
(D)  Latent learning 1. Attention and retention
21. Choose the correct sequence of 2. Attention and Reinforcement
emergence of the following theories 3 Producti
of emotion - ) ro .uct'lon processes and
L. James — Lange motivation
2. Cannon — Bard 4. Reinforcement and
3. Schachter and Singer motivation
4. Darwin (A) 1and 3only
(A) 1 3 2 4
(B) 2 and4 only
B) 4 3 2 1
(C) 4 1 o) 3 (C) 3 and4only
(D) 1 2 3 4 (D) 1 and 2 only

Paper-11 6 J-04-12



18.

19.

20.

21.
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T EHT
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P
A 1
B) 2
<© 4
(D) 3 2

— W Qo
—_— AW
A= R

TR T 3THaE T & fehcH
TR T G Y el & 2

(A) TH (B) ¥ =R
(C) u=dAA  (D)IWITRE

T % I H FETATET § d R
FARUR Sl 3 e A A

(A)  ToRamge ergem

(B) IR T

(C) Vel stfepme

(D)  3TeeRT 3Ty

o % frAfated gl & 339 %
HET SHH 1 I HIT

1. ST

2. FH-TIE

3. I uE R

4. =i

(A)
(B)

©
D)

i S
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[SSI ST (O ) \S)
A=k
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22,

23.

24.

25.

26.

T % AR H T Wl & 9

1. AN I

2. @9 SEifed

3. JaTEd STl

4 aTer S ¥ i

(A) 1,234

(B) 1,233

(C) 2,334

(D) 1,2,33W4

Sifgeh U Hieaq @i fH wfet (WUe)
FEATAE ?

(A) TWETES

(B) 3w@Es

(C) @ U

(D)  HoTTeR

TRl SHITSTeRT, ST o Ufe o Wiatsear
FAT ¢ Al afasr dfed 9 =@, T@
frefetiad =SSR

(A) g aRwed qoTedt

(B)  ATICTRTOT WRIH

(C)  ufaa™ faveias

(D)  =IT 3R WIS ulshar

TF ghe-Ueel ¥ gite Hoba fHATeiiad
o ¥ [5a% AW 9 9RER Jolhe a%
TEEAT & 9

(A)  UIerh SHFeT FHeh

(B)  HEHST Sifpoic e

(C)  HII-THIRS ToThe

(D) URRIR-URTZA T

Heyor St § fetafad g €
1. ST S 9RO

2. U 3R UEe

3. ScIe ufshar 3R ShauRon
4. TS ST ATTROT

(A) 13T 3TE |
(B) 23N4TEE |
(C) 33AT4TEE
(D) 13R2T&EE |
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27. Which of the following factors
reduce the accuracy of eyewitness
testimony ?

1. Suggestibility

2 Source monitoring errors

3 Interference

4. Decay of memory traces

5 [llusion of outgroup
homogeneity

Codes :

(A) 1,2and3

(B) 1,3and4

© 1,2 and 5

D) 2,3and>5

28. Microsleep occurs mainly due to one
of the following :

(A)  Sleep disorder
(B)  Drugged state
(C)  Sleep deprivation
(D)  Dreaming state

29. Self-Efficacy is
(A) A person’s mental model of

his or her ability and
attitudes.

(B) A generalised evaluative
attitude toward the self that
influences both moods and
behaviour

(C) The process by which a
person comes to know or
perceive the personal
attributes

(D) A set of beliefs that one can
perform adequately in a
particular situation.

30. Which one of the following is a
product in Guilford’s model ?

(A)  Evaluation

(B)  Cognition

(C)  Transformation
(D)  Symbols

Instructions for Questions 31 to 34 :
Read the following information and
answer the four questions that follow :

Paper-11

A researcher wanted to test the
hypothesis that a given drug would
adversely affect the rate of learning. A
group of 40 subjects was employed in the
research. Each subject was required to
learn a task upto two errorless trials. Then
each subject was given a specified drug
dosage (Img/body weight in kilogram) and
thirty minutes after, the subject was
required to learn another equated learning
task upto two errorless trials. The number
of trials required to learn each task
followed a normal distribution. The mean
number of trials required to learn the tasks
were 24 and 20 only for normal and
‘drugged conditions’, respectively. The
two conditions had comparable standard
deviations. The mean difference was tested
by a suitable statistical test and the
difference was found to be significant at
.01 level.

31. What can you conclude about the
researcher’s hypothesis ?

(A) The hypothesis has been
verified

(B) The hypothesis has been
rejected

(C) The hypothesis has been
partially verified

(D) The data are inadequate to

evaluate researcher’s hypo-
thesis.

32. What statistical test appears to be
suitable  for evaluating mean
differences ?

(A) Independent samples t test

(B) One-way ANOVA for
independent groups

(C) Paired samples t-test
(D) Chi-square test

33. The dependent variable in this
experiment is :

(A) Drug dosage
(B) Trials required to learn the task
(C) Body weight
(D) Time interval between the drug

administration and learning the
second task

J-04-12



27. ffafed & @ B 9 SR AR T
% e Sl URSEAT FF HA § 2
1. Eg=a

i R et

3TNy

id @l F g™

eI THE TS 1 97

SN

aga:
(A) 1,233 (B) 1,334
(C) 1,235 (D) 2,33R5

28. GeH-Ta1 T=feifad o @ gead: fas
HRT Bl & 2

A) T
(B) 7oy = feafq
(C) FsrE=m

(D) @ g

29. WU9EHIAT (=fetiaa 8 & = & 2
(A) Tt =afe ® FmEar @R
gt & dafed®  AMNES
PINEN)

(B) o4 WA WHRAGd  HodAEHA
afirgta, S fot @R =aer g
T TeTferT T € |

(C) Ul wishan, fee gRy i s
JgfoRsE TON B BRI AT
FATE |

(D) U fava & @® = |
fomiy o SugeRt FoaTe Y TR
g

30. fowe & ufasel # f=fefad & & &=
TS 3 & 2
(A)  HoAh (B) daH
(C) =UieRo (D) Ve

7 31 9 34 & ford S s

frfafga gar & ulgr @R
fefetEd = weHT & TR I

UH IMYhdl 8 UNhedT o TRIET0r
AT TR § T & TS 3wy F AT B A
W UfdeheT TE TSdT € | 40 WASAl & U
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g HI IMEHE § I R T | qE A
TS AT &1 I Wed T TR a% FE
T AT HET AT | S TS eIk TI=T
fafafeee sy =t o (1 /e 3 R
% 5 & 3TER) A TE AR A e a8 39
i ¥ GEqed A HE i &% T
feam an, fSrgesr stfermm 31 Jfe Tea @ wR)
ToH HET AT | T F UG BT AT
THMERT o | 3T o TGl o SEd g
[T et 3R ey ot feafq o AT shaet
24 3T 20 o | T Teafqar § AFe faem
T Uk ST AT | SUGHT HiReTeh IieTor
TR 3T AT 1G0T fRar e 3R .01
TR T I8 3T A 7 T4 |

31. INYHdl H UNHSST & GR | T F
ey frepter Wepa € 2
(A) UREHETAT T Feara o T |
(B) UReheuHT @i fepd T T T
T
(C) 3T Uhou-T 1 ARTH AT
femar T |

(D) ¥NHAT B HETAT H HodATHA
R & oY 3 e ST © |

32. 3T & 3R N Godishd H & [eTT
?? T iRkl TIeTOT W el gt
0
(A) IC UfageT 2-URIeTor
(B) @dd O9El % oW a°-a T U of
I T (ANOVA)
(C) T U=l 21-udreror
(D) TS TRIeTor

33, TE WO H T uRee €
(A) 39Y H GIH
(B) #@ % W & fow fpuw U
L RZIES]
(C) IR H a5
(D) 39y 3 3R THA HF ST &
S T 3R
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34.

35s.

36.

37.

The above information suggests that :

1. Parametric model should be
followed in data analysis

2. Non-parametric model should
be followed in data analysis.

3. The scores under two
conditions appear to have
homogeneity of variance

4. The scores under two
conditions appear to be

heterogeneous for variance.
Codes :
(A) 1 and 3 only
(B) 1 and4 only
(C) 2and 3 only
(D) 2 and4 only

Railroad tracks that seem to draw
closer together as they recede into
the distance are an example of

(A) linear perspective
(B) relative size
(C) binocular vision

(D) feature detection

Memory for particular events is
called :

(A) semantic
(B) sensory
(C) episodic
(D) procedural

A test of Abstract Thinking had the
norms in terms of normalized T
scores (Mean = 50, SD = 10). If the
subject received a T score of 60,
what would be his percentile rank ?

(A) 16

(B) 60
(C) 66
(D) 84

38.

39.

Match List-I with List-II and
indicate your answer using the codes
given below :
List -1 List - 11
(Childhood (Personality
experience) characteristic)
p. Little 1. Overly
gratification dependent
in oral stage
qg.- Excessive 2. Impulsive

gratification
in oral stage

r. Overly harsh 3. Hostile
toilet training
in Anal stage

s. Relieved 4. Compulsive

toilet training

in Anal stage
Codes :

q r S

(A) 2 4 3 1
(B) 1 3 4 2
©) 1 4 2 3
(D) 2 3 1 4

Multiple Abstract Variance Analysis
is used to study the effect of

(A) one independent variable on
more than one dependent
variables

(B) more than one independent
variables on one dependent
variable

(C) more than one independent
variables on more than one
dependent variables

(D) None of these



34.

3s.

36.

37.

STYERT T | Ul T § o
1. <1 fawemor § urafess Hee &

STUATT ST e |

2. = oveAunr § euretets 59T
STUATT STAT e |

3. T Tofqai # @R Ouwur "
HHGTA i il ¢ |

4, T Toefew 9§ @R WO H
fererergTan 2t

(A) HoeT | 33
(B) whaet ] 34
(C) HoeT2 3R 3
(D) FHaA2 3R 4

RIS F ¢ §U W AOH | eT gl
o @ s ¢, ¥ FreAfdfad 9 o#
Tepereht SETEX0T & 2

(A) e afeg
(B) dTUET 3THR
(C) e e

(D)  TIeIOT WO

(A) 3T
(B) Fet

(C) wrdfTH
(D) WHATHS

g fadw  wWiemr % ARTS
WIS 2 TH (i = 50, TF B =
10) & 5T & | 3 v & 60 H 2
e fHerar € dF ST IIdIcHs 3 T
T 2

(A) 16

B) 60

(C©) 66

(D) 84

38.

39.

-1 & G-I § gAferd Hee 3T
T T 7T e A ST FA T AT

waﬁﬁrq:
e -1
(T & IFH)

Tt - 11
(AfFaa >t
farsraan)
p. It /e 1. STcrdes S
o = giroT
q. e e 2. 3wt
T ITcmeh

. foe

(A)
(B)
©)
D)

N = = T
w A W A O
—_— N B~ W=
AW O = ®»

frefafea & 9 a9 e @ &
fow sg emd veRvr favelsur # W
fopa ST 7 92

(A) UH ¥ 3Afysh IMiyd uRacdr W
T W IREe T qAe

(B) UH 3IMyq URad W UH J
MY ST IRt ST T

(C) TH O Afys onfya uRaet W
TS 9 Afysd Woam uRedt @
T

(D) T ¥ HiE &




40. Match List-I with List-II and indicate

41.

42.

your answer using the codes given
below :

List -1 List - I1
(Brief description) (Type of
reinforcement)

p. reinforcement 1. fixed ratio
occurs after a
set time period

g. reinforcement 2. variable
occurs after a interval
set number of
responses

r. reinforcement 3. fixed interval
occurs after a
varying time
period

s. reinforcement 4. variable ratio
occurs after a

varying

number of

responses
Codes :

p q r S

(A) 3 1 2 4
(B) 1 4 3 2
©) 4 3 1 2
(D) 2 4 3 1

Which of the following effectors is
mainly responsible for instrumental
(motor) response ?

(A) Smooth muscles
(B) Cardiac muscles
(C) Skeletal muscle
(D) Adrenal gland

A process following learning during
which a memory becomes more
firmly established is called :

(A) over-learning

(B) consolidation

(C) transfer period

(D) constructive processing

43.

44.

45.

Assertion (A) : A large body of
research indicates that
violence and aggression 1is
learned through observation.

Reason (R) Learning through
observation takes place due to
exposure to similar situation
and experienced reinforcement.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(C) (A)is true but (R) is false.

(D) Both (A) and (R) are false.

Some steps in test construction are
listed below :

1. Internal consistency assess-
ment

2. Item analysis

3. Test-retest reliability

4. Item writing

Usually, the above steps are carried
out in the following sequence.

(A 4,2,1,3
B) 4,1,3,2
© 2,4 1,3
D) 4,3,2,1

What is the correct order of the
following conflicts occurring in an
individual’s life ?

1. Autonomy V/s self doubt

2. Identity V/s Role confusion

3. Competence V/s Inferiority
4, Intimacy V/s Isolation
Codes :

(A) 1 2 3 4
(B) 2 1 4 3
©) 1 3 2 4
(D) 3 2 4 1



40.

41.

42.

e AIgE % TR W e |
ﬂ'ﬁﬁﬁﬁﬁ%‘l’q:

e -1 = - 10
(ferarom) (A &
UHR)

p. FuiRa gz 1. fuiRa ffvea
i % A ST
T I € |

q. Wideamet @ 2. uREdr SR
et g &

;ﬁgﬁéﬁ?%ﬁ?ﬂ
|

r. URgd @Ea 3. TAfved e
a9
T I & |

5. UREdl UegaRi 4. R ST
&1 o 9IS

T I € |
E T
P q r S
(A) 3 1 2 4
(B) 1 4 3 2
Cc 4 3 1 2
(D) 2 4 3 1

frafafed & @ ®F ¥ ydEE s
TTRI & foTT Jad: SR 8 € 2
(A) Fest migutEr

(B) &&F WiwURwET

© 3 o

(D) TufgTet ufw

Teh Uishan foad fafad °§ 9 ™
T i sratyes fer g ST €, 39 %
&

(A) A 3Ty
(B) THHA

(C) TR Aty
(D) TEATCHS TS0

43.

44.

45.

ATUHUT (A) : I H T R
g 99 & gus & o F wd
SMHTHHAT UeTUT o HIEAH O
ST Bl & |

& (R) :UIOT % WEW  H
s, g oRfefd ek

ETE

(A) (A) 3 (R) I el €, 3 (R),
(A) Tl TE AT F |

(B) (A) 3R (R) T WEr &, oiferm
(R), (A) =l & =T =761 € |

(C) (A) Tl &, Al (R) Tord & |

(D) (A) 3R (R) I TAT € |

TRIeIT FHTOT % I TROT A lRe MW E
1. AR S e
2. =g fogeroo

3. OO TeoT faverd

4. TR EEA

T 3T WROT At w9 o
TP 5 €

A 4,2,1,3

B) 4,1,3,2

< 2,4,1,3

D) 4,3,2,1

Tt wife & Siiem § ftarad 551 1
el HH T E 2

1. SIddr 999 3cH-ITeh
2. T S qHeE 9

3. AT S &l

4. =TT I SThTI
T

(A) 1 2 3 4
B 2 1 4 3
© 1 3 2 4
(D) 3 2 4 1



46.

47.

48.

Which of the following attitude
scaling method/s has/have been
proposed by L.L. Thurstone ?

1. Paired comparison

2. Summated ratings

3. Scalogram

4, Equal appearing intervals
Codes :

(A) 2only

(B) 4only

(C) 1and4 only

(D) 2 and3only

Match List-1 with List-1I and indicate
your answer using the given codes :
List -1 List - II
(Validity type) (Brief description)
p. Predictive 1. Covering all the

validity important areas in
a given course of
study
qg- Concurrent 2. Yielding
validity theoretically

consistent results

r. Construct 3. High relationship

validity between the new
test and the
established test of
same trait
s. Content 4. Forecasting some
validity significant
behaviour on the
basis of  test
scores
Codes :
p q r S
(A) 3 4 2 1
(B) 4 3 1 2
©) 2 1 4 3
(D) 4 3 2 1

During emotions skin conductance
changes occur due to the activity of
some of the following :

1. Sweat glands

2. Adrenal glands

3. Parasympathetic nervous system
Codes :

(A) land2

(B) 1land3

(C) 2and3

(D) 1,2and3
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49.

50.

4. Problem S.

What among the following is true for
mental set ?
1. It can enhance the quality and

speed of perceiving and
problem solving under some
conditions.

2. It can enhance the quality and
speed of perceiving and
problem solving in new
situations.

3. It may inhibit or distort the
quality of mental activities in
new situations.

4, It may inhibit or distort the
quality of mental activities
under same conditions.

Codes :

(A) 1and?2only

(B) 2and 3 only

(C) 1and3only

(D) 3 and4 only

Match the following :

List -1 List - I1

1. Thinking p. Mental activity
through ~ which
we transform
available
information  in
order to reach
conclusions

2. Reasoning q. An activity that
involves the
manipulation of
mental
representation of
various features
of the external
world.

3. Decision 1. Processing

information in
various ways in
order to move
toward  desired
goals.

The process of
choosing
between two or
more alternatives
on the basis of
information
about them.

making
solving

Codes :
A)

B
5
D

W RT
Wh—WOo
—N RN
A==
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46.

47.

48.

frefafed 5 9 & O Teud. SR
g gl Ao s Tt fafe < &% 2
1. g o

2. epiid ShiHeh ATYAT
3. TTIHY (ThHOTITH)

4.  gHEME didredeh el

T

(A) e 2

(B) o4
FHaeT | 34

©)
(D) a2 3R 3

g1 & G-Il ¥ goferd e 31T
T ST T e A ST FA g ST
Waﬁf@:
e -1
(& TBT)
p. do= gEE 1.
EERI]

= - 11
(Gfere faawom)
fgu T e &%
Tt HeTaguT &
T THEY
Hgitas Fad
RO 37
TS & T ATl
TS AT G0 T
T URieToT |
I Hegay
. TI&TOT S T

MR W FT
TEwa 0] TR
Bl

q. IEME 2.
A
r. AYSF dUdr 3.

T4

(A)
(B)
©)
D)

Ham o NF e § | fohges
fsrar o SROT =T % Hoed | e
BATE 2

1. W@y

2. TS U

3. oy fawitatess dfe o

AN~ W
W= WO
NSl O R ]
—_— DN = w»

1 32
2 T3

1 33
1,233

(B)
(D)
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49.

50.

Afafed 9 AFEs o™ (@1 &
T ferer feafe) o dey o = @2l & 2
1. oo fefqa ¥ veeor o) auen
U H UEET SR A R
T THATE |
2. TE T Tefqa § e oY
T GATYM S TOTERT 3R T
T TG T & |
3. @ & @@ # 9EEs
TRaTeReTd ot TUTENT T Uk AT
forhet & TR © |
4, T WA fEfqa 9 §EEe
TRaTeReTdl ot TOTENT T Uk AT
forgr & AT E |
%
(A) HaeT 1 T2
(B) HAA2TS3
(C) HAA1TH3
(D) FHAA3TI4
fre=ferfad =t gaferd wHite
TR -1 =i - 11
1. faa= p. ©aT AHE
IERIEZIC AR eC
ey § 8 Uy
TN & |
2. T q. U TR e
eI S & farg=
TEIOT o A
FEquT 1 g
AT E |
3. Fomemr 1. difed ol # AT
ST o fere fafu=
TRt & G
TSHHOT LT |
4, TS s. T AT T MH
T forheal o IR |
T T % TER
3T | 99
T T UHAT |
%
p q r s
(A) 4 3 2 1
B) 2 1 4 3
© 3 4 2 1
(D) 2 3 1 4
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